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Demand
vs the various amounts of a product that consimers are willing and 7,

Demand is a schedule or a curve that sho
series of possible prices during a specified period of time. Demand shows the quantities
ious possible prices. other things equal.

chase af ecchof a
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iaw of Demand

Other thing equal, as price falls, the vanti i i ;
e ihog, < quantity demanded rises, and as price rises, the quan

Pt = Q4| Pl =Qaf

There is a negative or i
gative or inverse relationshi 1
ip between price and j
quantity demanded.

Demand schedule or demand curve

. e

as a down slopin
. : g curve such F
price d as D. Othe
ice declines and less of the product as "sf l;r:iwregrsiSZQUcl, consumers will buy more of a product s
S, -
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56
p“""’——
Price per Qeantity Bemanded 8
Bushel per'Week £ 5\
— | 5 — e \_
P 3
4 20
3 35 $
2 55
1 80 .
: D
omzn:oqosow'msoq'

Quantily Demonded

The inverse relcﬁonsl:\ip bgiween price and quanfity demanded for any product can be represented
on a simple graph. in which, by corvention, we measure quaniity demanded on ihe horizontal axis
ond o rice on the vertical axis. In the graph in Figure above we have ploited ihe five price-quantiiy

P P

dato points !istefj in the sccompanying totle and connectsd the paints il 0 smcoth Cure, Iubeled
D. Such a curve is called a demand curve. lis downward slope reflects the law of demand—people buy more of a !

product, service, or resource as its price falls. The relafionship between price and quantity demanded is

inverse (or negative).

why the inverse relationship between price and quantity demanded?

Three explanations of these relationships

people ordinarily do buy more of a product af a low price than at a high price. Price is an obstacle
ihat deters consumers from buying. The higher that obstacle, the less of a product they will buy; the
iower the price obstacle, the more they will buy. Bhiea

.. In any specific time period, each buyer of a product will derive less satisfaction (or benefit, cr utility) ;
from each successive unit of the product consumed. The second Big Mac will yield less satisfaction |
io the consumer than the first and the third still less than the second. That is, consumption is subject
to diminishing marginal ufility. And because successive units of a particular product vield less and
less marginal ufility, consumers will buy additional unifs only if the price of those unifs is progressively  |:

reduch. i
o Alprasall lpale Joz ol sl Asizall of (e (diminishing marginai utility) 1=l amazall Ladls Opls you
osJ] 313 JS lpisias osill asisoll ol pumns .2odlize VS Boae diin; 8555 I\ aelul oo adbio olig) aSVpruwl

Olisg Syt Of dsus dlgrualld 3 psipas (sl 82>l bl il amiinll 2l oo J3l 098z lpiaanll Gsiia
J3l olS clasgl b e 15 ddls]

+  We can also explain the law of demand in terms of income and substitution effects.

. The income effect indicates thot a lowet price increases the purchasing power (& 2a,3) of a
buyer's money income, enabling the buyer to purchase more of the product than before.

] skl oo glinall 35Sl 533 U] 5392 Loa 3b37 Allgzasnl) &gl 3ol 0ff Aaluall jo Jis Lotic

s that at a lower price buyer have the incentive to substitute what is

The substitution effect suggest i
for similar products that are now relatively more expensive.

now a less expensive product

o5 g0 Aspllnall aaSH 535 csJ] 65332 oty AsLoall i) alond] gLl o ool 24 lpsfh daluall o Js Losie

alal glull wle bl olasi g agludi
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= s o the purchasing power of congy,
e of chicken will increas 5 lower price, chicken j S ing 4
en (ihe income effect). At s Qnr?es

the pric eloﬁ\,n
r pork, lamb, bee S
& consumers d

For example, a decline in 4
2 more chick

enabling people to bUYrs o o subsitute it fo
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Mulfiple Choices:

the total quantity of a good o service f

A. are wiling fo purchase.
B. are able fo purchase.

g 7 hat customers:
1. Demandis

C. bre wiling and able fo purchase.]
D. need.

e law of demand states that, other things remain
smaller is ihe demand for the good. .. . ... .
sraciler is the guanfity of the good demanced
l:aFgﬁ'_fé_ihe quantity of the good demanded.
Larger is the demand for the good.

)
b |

ing the same. ihe higher ihe price of dooh .
A iha
ex

0O«

The law of demand states that the quantity of a good cdlemanded varies
A. Inversely with its price] :

B. Directly with population.

C. Directly with income.

D. Inversely with the price of substitute goods.

w

4. Each poini on the demand curve reflects
A. [The highest price consumers are willing and able fo pay for that particuiar unit o
B. The highest price sellers will accept for all units they are producing. &
C. The lowest-cost technology available fo produce a good.
D. Allthe wants of a given household.

f a goog]

Individual Demand css,a)l bl

Is the quantity demand by single buyer at each price level ‘
i
bl O3 -()-w-\”().ba).uiJina‘S\Lﬁ_.ul 81> i lg cllos g |
: : P20 A 9 9l 3>y ellpziun ) asloll 5,80l sgx A ]
&350l 5359 Jalgal s go Rl 038 5.0 ¢ Slgaall 1 i g o Bels o Ao A - by
, ; % fory] 53y
Anb bl o
Market Demand (3e.ul Llb - ’

Thg mcrkef~demcnd is the summation 1
various possible prices. The market derna
rves of all the consumers in the market

nréecgucq’[iﬁes der_nonded by all consumers at each of the
rve is the horizonial summation of the individual demand

S35V Jolgell o1,z &0 & | omﬁg Sgaull

3|Paﬂl
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Example

se that there o 5
| SUpPOSE re three buyers in the market of Corn. At each price level, the quantity demanded

is given.
Price per Quantity Demanded
! Market
Bushel Maijed | Yousef | Sama 4
?45 10 12 8 10+ 12+8=30
! 20 | 23 17 .| 20+23+17=460
3 35 39 26 35+ 39 + 26 =100
] 55 60 39 55+ 60+39=154
80 87 54 80 + 87 + 54 = 221
P P P ?
H T G 1] S - i
- i } ;
o ‘\‘. i o X = T Markary
53§ e, - e $3 b
% D, D, N D ‘
. < Q S Q . 7 l
0 35 b} 39 0 25 2 9 103 ¢

=35+ 35 +126)

Example

cor a market of 200 corn buyers, each with a demand as shown in the table below. What is the market
demand curve? X

Price per Quaniity Market Demand
Bushel Demanded | (Qd * # of buyers)
per Week

$5 10 10 * 200 = 2,000

4 20 20 * 200 = 4,000

3 35 35*200 = 7,000

2 55 55+ 200 = 11,000

1 8C 80 * 200 = 16,000

owiee.

Change in Quantity Demanded aolholl aoS)l (88 psill

s @ movement from one point to another pointona fived demand schedule or demand curve.

.glh.”Mum&cihﬁ&!ihﬁonduﬂw@m:iggjbzﬂ&p;ﬂ@éxﬁﬂl

gLl joun suss loric ayglianll 8u0SIl (53 s I3
Change in quantity demand is cause by increase or decrease in the price
of the product.

ogn® Y
For example, a decline in the price of com from $5 1o $4 will increase the $4 }------------- e \@\
quantity of com demanded from 7 fo 8 bushels. Movement from point X ]

to point Y on the demand curve represents d change in quantity
demanded (increase in quantity demanded). 7 .8

u\()x L R
|
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" Increase 11 . |
5(. quanItity demandg _, 1
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Quantity
ll a ¥ ’
d olb) ! bl s JolS JEBY (siss 1 Ly

Change in Deman

Ao ymal pusi e

ically, a shift in the demand curve is called a change in demand

i ol 8 st 329

the demand schedule or, graph

A change in

er desires fo buy more ; | ‘
/'r’; Z]ee,sg:;ui;nshown as a shift of the demand curve 10 the right, say. from De to Di.

mand is shown as a shiff of the demand curve to the lefiward, say. from Do to D».

inde
P
sé g
Fok T
3 ‘5\\ ‘\; -
e,
B
4 \ \"\ \"
i Increase in demang

s e
\\f; xx%‘*-,ﬂ%& ) y
L \‘fiﬁa}\\\
- \\ D,
""'«,.."
'“'-n.,__"’

g,
\\ ey, \‘_
' i
b
ecrease \\ D,

=ity
in demand D;

Price (pen bushel)
.

~

N

0 2
I
Qlﬂnllt’ demnuded (thousauds of bushcls per W‘Qk)

STUDENTS-HUB.com

bl

)Hg-;!ag.b‘dl&ﬂviwldd\lc%hwig\ébéﬂlﬁyrh&

unifs at each possible price, then demand increase. ’”CfeoseL

A decrease in demand occurs when consumers buy fewer units at each possible price. Decreqg
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Multiple Choices:

_‘_._’A,,bg.'be'ﬁlé! raises_the price of haircuts and finds that the volu

me of business declines. This

a decrease in demand

. anincredse in demand
c. ladecrease in quantity de

manded|

D. @

The quantity ofag
A. aflower prices,

ood demanded tends to increase a

e .
nincrease in quantity demanded

s its price falls bec;ouse:

C. adecrease in price shiffs
D. adecrease in price shifis
The CONSUMET Wos
Ao B
B.

C
D.

Wie 2 = o —e0e——

increase in supply
_ decrease in demand

The price of
A.
. Adecredseinquan
C. Anincrease in quan
D. Anincreasein demand.

preferen

» Consumer's Tastes (
A faverchie change in cons

nat more of it will be deman

>|}LoJS§.ELL_‘minL&u‘}_n
8 LS Lo sk @l

demand curve fo the right

A decrease in the number of
curve to the left

able 1o buy 12 cans of cola ot a price of $1
Iy 14 of the same cans of cole at o price of 1. evidendly. the €O

4. The number of personal comput
ersonal computers
An increase in guanti de
ity demanced.
tity supplied.

umer fostes for a product

An unfavorable change in consumer fa

Alpz sua)
lpzsnll J5 lolSs Azl

An increase in the number of buyers ina m

: suppliers are willing fo supply a greater quantity fo the market

B. E decrease in price leads consumers to substiute towor@@@
the demand curve to the right
the demand curve fo the left

L]

this week, it is able 10

in last week. In
renced afn}:

nsumer has expe

increase in quaniity demanded

n the United Siates has increased at a rapid rafe.

ers sold annually i
e fo the lower price is called

has fallen. The rise in sales d
manded.

Deterrninants of demand Idemand shifters)

ces) lgiunll 393

makes the product more desirable; means
ded at each price. Dermand will increase {shift to the right].

sies for a product will decrease demand (shift fo the left).

ol ellgs ol 35 0l BN oo

sl LolS b asluy aass, ellpscall
pia lpslby all SluaS)l

LoaS)l p15 53 S oo

| Lpulby 53l ©
[l ¢ lpalay sl oS

Number of Buyers aalal) uSlgiumell 520

arket s likely to increase product demand = shift

puyers in o market will lead to decredse demand = shiff demand

1

—

s
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» Income ellgiuoll g

IR R ) 1 nds_(_supeﬂof_gﬂndﬂ
{aNotst goo

S . i, _
aries direcily with money income are called normal ngds or “SUpsrig:

Goods whose demand V

goods".
o demandf = shift demand curve to the right.
ft demand curve to the lefi.

Income A
demand } = shi

incomel =
rmal goods: steak; Furniture: Clothing: car

Examples for no

(b) Inferior goods azs)ll aelull

sarias inversely with money incore ore colled infedcr goods.

Socds whose demaond
& kil dernaind CuitvE 1, the lefi.
shiit demand curve to the right.

e | M
demand |

demandt =

Excmples for normal goods: Used Furniture, Used Clothing

Muitiple choices:

d is inferior and income decreases then

1. Ifagoo
hift to the righ

A. The demand curve will s
B. The supply curve will shift fo the right
C. The demand curve will shift fo ihe ieff
D. The supply curve will shift io the left

2. Gasoline is a normal good. When consumer income increases, there will be

A. a rightward shift in gasoline supply curve
8. A leftward shiff in gasoline supply cunve
C. {5 rightward shift in gasoline demand cur\/el

D. A lefiward shift in gasoline demand curve

~d incomes decline

3. If used cars are inferior goods ar
4. soles of new cars remain unchanged

laty

B. sales of used cars decline
C. sales of new cars incredse
D. Eales of used cars increase

Prices of Related Goods

A\

(a) Substitutes good (akal eLji) 1 Is one that can be used in place of another good.

gl s 55Ul o Vs Ll sty of dlprasall olSals 018 15] cprzliy uraleadl o

FExcz(zjnple.s: Coca-Cola and Pepsi; Colgate toothpaste and Crest: Nike and Reeboks; Chevrolets an
ords

the other.

o3 1 N 7 7] 7
Then-twa products are substitutes, an increase it the price of one will increase the demand for

o
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—Wmfﬂ
For example, an increase in the price of Coca-Cola, consumers will b it i i

s L § vy less of it and increase their
demand for Pepsi. = Shift demand curve for Pepsi fo ihe right.

(b] Complemenis g ~ B i goodz
logas) OlileSs Logily Olebull B,

asiio wsdo dllpzeall Joasy (sims Akl Izl (JoVl SMpzwl 0,31 15]
: Ton parebludl cllpsun Wl &ssa

i

Examples: Car and Gasofine; Computers and Software; Camera and film; Cell phone and Cellular

service
When two products are complements, an increase in the price of one will decrease the demand for the other.

For example, a decline in the price of cars, consumers will buy more of it and increase the
demand for gasoline = shift demand curve for gasoline to the right

14 = i s
trrpinied good (Beos izl

.
<=3
 Hed

Goods are not related fo one another is called unrelated or independent.

Examples: Butter and Goilf balls; Potatoes and Automobiles; Bonanas and Camera

If a change in the price of one has no effect on the demand for the other, then the two gecod
are unrelated ; -

Muittiple cheices:

1. If the price of a complement decreases, all else equal,

A. Quantity demanded will decrease.

B. Demand will increase

C. Demand will decrease.

D. Supply will increase.

If the price of crange juice rises, the demand for grapefruit juice will
increase because ihe two goods are substitutes

A.
3. increase because it is a complement ,
C. decreose because the two goods are substitutes]

D. decrease because the two goods are complements

3. Assume chickens are normal goods and chickens and meat are substitutes, which of the following
will cause the demand curve for chickens to shift fo the left.

A. increase in consumers’ incomes

B. decrease in the price of chickens

C. increase in the price of meat
D. decrease in the price of meai|

Which of the following evenis would increase a sfudent's demand for Falafel?

an increase in the price of Falafel
a decrease in the price of Hamburgers (Falafel and Hamburgers are substitutes)

of Coca-Cola (Falafel and Coca-Cola_are complements))
hly allowonce (i< »=) that the student receives from his family

A

B.
C. b decrease in the price
D. An increase in studeni monft

{F‘:Icfel is-.an.inferor qood).
'P. RIPawS

4

Yot
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: : d Supply. and Market Equilibrium _ 3,
M’ 3: M

roduct C might be caused by:

5. Arightward shift in the demcnc_:l curye fqr p y
A. Anincrease in income if C is an inferior gooa-

W
\

8. A decredse inincome’
C. Adecreaseinine Srice of d Pr : =
D. [A decrease in the orice of @ sroduct that is comlemenfcl to C !

I
E

e

» Consumer Expectations  aslull = b il o Algzannll B9
i i - ~es may cause consumers 1o buy now in o_rder to anficipated (. T
expectation of higher future pric Y  dermand fo the right) N’L
B

price rises = increasing cument demand ( shift curren
pectation of higher future prices of

3,1 guzhll) creates an €X

For example, inclement weather [
Tomato, this lead fo increasing today’s demand fqr Tomato.
pauliicle choices
=ctime price of o good N e e future 12 resuitis

B < ¥ —_—
i.oa DuyEis S4psC

A. an increase in supply today
B. r<Eecreczse in quanti demanded today
C. cnincrease in demand ?od&‘

D. anincrease in quaniity demanded tocay

dramatically.
for cars will decredse.
ter frain rides will decrease.

2. if the price of gasoline rises
The quantity demanded
The demand for commu

The demand for cars will decrease;
The quantity of commuter frain rides demanded will incredse.

hich of the following will increcse the demand forlarge automobiles?

A fall in the price of smail cutomobiles.

iA decrease in insurance rafes for large qulomobiles |
A fall in the price of large automobiles.

A decrease in buyers' inCOmes (assuming

large autcmobiles to be a normal good).

w
BOFFE Opoy

Supply ’
Is a schedule or curve showing the various amounts of @ product that producers are wiling and ab
t each price level. ‘T

make available for sale a

.%imﬂﬂbgwhfhﬁp&”ﬁg&obidﬂJQuQbﬂa@zbbaﬂAugiﬁind¢ﬂgﬂ

Law of Supply

Other thing equ

al: as price rises, the quantity supplied rises; as price fall, the quantity supplied faills.

Pt = Qst
Pi = Qsl

There is a positive relationship bETWEET price-end-quantity supplied.

\q
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Chapter 3: Demand, Supply,

and Market Equilibrium _%p\e Jo® 5

The supply cuve

a mg'vi ual supply CU oyt

The supply curve for an individual producer graphs as an

falls.

_ up sloping
producers will offer more of a product for sale as iis price fises and less of the product for sale

curve. Other thing equdl,
as it price

Jolgsll c&2 go Amloll 038 s e ol 2ol 5 oo Lo Gl oo agmall &aS)l o Ml g uzmnll 351 e

Price per Quantity
Bushel supplied per
week
$5 60 |
i 22 20

Market SUDDY Souull (5,2

The market supply is the
possible prices.

Azt s,V

°

Pucu (por bushoel)

:n»,m‘-wnsovccz
Quantity Suppficd {busbels perweek)

surnmation the quantities supplied by all consumers at each of the various

opur 8Mall Bguall (28 G2 ol geozr e Jiod gl o255 Lol ozzinll ol ye Jiar 3,8l uosell ol B,S3

=3 858all 5,5Vt Joleall yal:33l &2 JERT RS T Gl o8 022

Example

For a markei of 200 com seller
market supply schedule?

Market supply

Price per Quantity
Supplied Qs * # of producers)
per Week
60 %0 * 200 = 12,000
50 50 * 200 = 10,000

35 * 200 = 7,000
20 * 200 = 4,000
S 5*200 = 1,000

Change in Quaniity Supplied ang,enll 2ol o8 perll

Is @ movement from cne point to another point on d fixed supply

schedule or supply curve.

Change in quantity supply is cause by a change in the price of the product.

U@lwﬁwum

oP i.bgp;\.}l a._..aﬁ."
-zl yael

s, each with a quantity supply as shown in the table below. What is the

Pdce (parbusiwel)

LY
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Chapter 3:

————Bromi3t-Principles-of MicroecOUOTICS

ce of corn from $3 to $4, increase the quantity of Com suppliey fr

’ : i
For example. anincrecse T ke 't A to B on the fixed supply curve.

35,000 to 50,000. Movement, from poir

Change in Suppl!
PG

A change in one of more of the determinanis of supply causes @

change in supply.
n supply is shown as d righfword shift of th

“w

'S

An increase i e supply
curve as from S1 to S2.

Prico (porbushal)
w

he supply curve

~

#increase’in supply

2 decrease in supply is shown as G lefiward shift of
as from S1 o S3.

-

o

n M 32 16 3 £n
Guanuly Supphed {DUINRIT Per eyl

“n

Determinanis of Supply {Suppi/ Shifieis] .

1. Resource Prices a=wYl s,lgall Sl
nis leads io decrease the profit. Reduction

- Higher resource prices raise production cost,
tput at each product price = shift supply cu

profits reduces the incentive for firms fo supply ou
to the left (upward). -~

duce production cost and increase the profit. Raises profits raise th

- Lower resource prices re
y output at each product price = shift supply curve fo the right.

incentive for firms to suppl

Example

A decrease in ihe price of microchips increases the supply of computers. H

An increase in the price of textile, decrease the supply of furniture.

2. Technology
enable firms to produce units of output with fewer resources = redue

Improvement in fechnology
he supply (shiff supply curve fo the right)

production cost = increase
For example, the developmeni of more effective wireless technology increases the supply of c%

phones.

3. Taxes and Subsidies . wsSxdl pcally (bl

An increase in sale or property taxes will increase production cost and reduce supply (shift supply

curve fo the left)
. angy2all OluSIl Judai By gyl IS5 sb; (] Sy aeldl sle ilys angSsdl ya)8 ol

If the government subsidi i . :
S sidizes the production of a good, it in effect lowers the production costs cnd-»

AL
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Woemwmics

558 5! oS glail sle 8,0l wJldls gVl S5 izl ol wsagy s OB sl pzuinl pod AngSll :;os:&l
Slha
_ anincrease in the excise tax cigarettes reduces the supply of cigarettes.
_ Adecline in subsidies fo state universities reduce the supply of higher education
sl sle poyall plassl Sl 28 Olaslzl) pazoll oSzl peall ool
4. prices of Other Goods z¥l (3 @bl glel Sl
R pszsiilly odlld Yl sloall urdiy Logorn] oSay Oliskus Lopsi oYl 3 ol skl 3,55
£ lsall 013yl 2 slsgh 1515 LpSlzny oill sloall s plasialy Logio o5l g of esls-o)l olsaly of > gVl
. paddnw gedll oo angyeall oSt ol sl pered) Wl wle alsg )__a.»‘dl acl,; 9= @9xe
i firms thot produce a pariicular product say. sOCCer balls, can somehmes Lse their plant and
equipment i0 sroduce aiternalive goods, 2aY. Lasketball and wnllayballs Sinc2 $2CTRT Halls and
J pasketballs are substitutes in production.
f Thé higher pr'lcés of these “other goods" may entice soccer ball producers fo switch production to
§ those other goods in order 1o increase profits. This subsfitution in producfion resulls in a decline in the
supply of soccer balls.
‘f Example: An increase in the price of cucumbers decrease the supply of watermelons.
gubdl oo azgymall SleaSH ol ol gl ol ol Al Ll sl g0 @hriam Eolsalt Ol Ll saes Sl 3|
5. Producer Expectations about the future price
£armers aniicipating a higher wheat price in the fuiure might withhold (w22} some of their current
wheat harvest from the market, thereby (¢lix) causes @ decrease in the current supply of wheot.
b i )
6. Number of Sellers Gyl o aclll sae
ol Other things equal, the larger the number of suppliers. the greater the market supply. As more firms
enter an industry. the supply curve shifts fo the right.
Multible choices:
1. Ifan excise taxis imposed on @ good or service,
A. fihe supply curve shifts U pward
B. the supply curve shifts downward
C. the price paid by consumers decreases
D. the quaniity produced and sold increases
2. Supply curves do noft shift if there is a change inthe
A. Number of sellers of the good.
8. Technology used to produce the good.
) C. Price of the ood.
g B, Price of resources UsecHoproduce the good. . s, L
TZ{FapF
L2
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: ne right exceP! S i
3. All of the following shift the S jy of watches 10 i &
‘A. ban increase in the price of watche atches '
g Or(ij advance m1 rT\ne i o ETS s g the future |
.a Cr i ewa 2 i e
D. mo:ufggfsi:sl' ex'pec?GﬁOT\ of lower watch prices I o
= { . ecting higher pnces in then
4. -What will happen in the ricé market if sellers are exp
A. The demand for riceé will increase-
_ B. The demand forrice will decredse-
C. The su for rice will decreased -
D. The supply of rice will increase
3 increases.
5. Wheat is the main input in the production of flour- If the price of wheat i
would expect
A. The supply of flour fo be unaffected-
B. The supply offlourio decrease’
C. The supply of ilour io increqase.
D. Tha demand for fiouf tc deciecis.
6. ligood Y is asubstitute in production for X then an increase in the price
A. Cause an increase in the supply for X.
B. Cause a decregse in the demand for X.
c. Cause an increase in ihe supply for Y.
D. Cause a decrease in the demand for Y
7. Which one of the following would cause the supply of banands to increase?
A. A technological advance which lowers the cost of banand producﬁon_l
B. A decrease inihe number of producers of banandads.
C. Anincreaseinthe price of a fertilizer used in growing banands.
D. A severe rain shorfage [which causes banana trees fo die off).
Example

What effect will each of the following have on the supply of aulo tires?
a. A techriological advance in the methods of producing fires.

dvance in ihe methods of pro
duction cost = increas

A technological a ducing tires €
resources = reduce pro e the supply

right)

b. A declinein the number of firms in the fire industry.

The smaller the number of fim
supply curve of auto tires to the left.

c. Anincrease in the prices of rubber (4] used in the product

Higher prices of r

reduces the incentive for firns to supply auto fires at each pri

STUDENTS-HUB.com

s in the fire industry, the less the market supply of auto tires. Shiff

ilibrium _Gple s

NSO

ear future?2

all else equal, we

of Y will

nable ﬁrrps io produce fires with fewel
of auto tires (shift supply curve fo ihe

ihe

on of tires.

bb i i i
ubber raise production cost, this leads to decrease the profif. Reduction in Pfom
; . ni !
ce = shift supply curve to the left.
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FEconl3l: Principles & ses___Chapter 3: Demand, Supply and Market Equilibrium Lle Jos i

d. The expectation that the equilibrium price of auto fires will be lower in the future than currentily.

The expectalion ! ui? ires will be lower in the future induce firms of tires
5 expand produc on ; i & Toihenght

e. Adecineid the price of the large fires used for semi trucks and earth-hauling rigs {with no change in
the price of auto fires).

Auto fires and large tires are substitutes in production. A decline in the pri i

i i . . price of the large tires leads
' large fires protucs to switch production to auto fires in order fo increase profits. = Incredse supply
of auto tires = shift supply curve of auto tires to the right.

i, The levying of a per-unit fax on each auto fire sold.

(]

A per-unif fax on each auto fire sold will increase production cost and reduce supply (shift supply
curva 0 the left)

~ inegroriingcrt o S0-ceni-parunil subsidy fior =och ouio e piniuCEd.

A per-.umt Sl_Jbsidy for each auio fire produced will decrease production cost and raises supply of
aquto fire (shift supply curve to the righi).

Market Equilibrium _Besul osls mﬂ

Equilibrium Price and Quantity ‘
Sup

The equilibrium price (market clearing price) is fhe price where guantity

demanded equals quantity supplied.
-------------------- S Equilibriv

At equilibrium price: Ou=0s

Graphically, the equilibrium price is indicated by the intersection (%) of
the supply curve and the demand curve.

Guentity

i - At equilibrium price, there is neither a shorfage nor a surplus.

=

. WhenQd>Qs — shortage ( excess demand) : Excess Demand = 0a- Os

. WhenQs>Qd — surplus (excess supply) : Excess Supply = Os— Ou

1
: -. The surpluses caused by above equilibrium price
oo ),.Sl ang,eall EWRI of st el =3 aglul oo w1 1S e sy <5 OB wslgal y2a0 o L;\J.CI JE V1LY isl
auglhall 3051
i . The shorfage caused by below equilibrium price
a0l oo S| duglaall aoSl of sl Fgudl 2 aalsll oy ol AlSte capas A5 ol ojleall e oo J3l el OS 131
4 . aong 1
W
& & \/ e, i e D - .
7 \ Arare
| .
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sraendiscRsdlis ansveriie ollowing

and
Example . resents the supPlY : € |
: c N S St T |
s : s o | The effecton
/ price

questions f”r@ﬁ'm‘fv/ Total G(;El]:gy shOﬂGQe(’)
tal QU pemd R s

- T
w‘ OSUPP"ed /_666///
| 12,000 4,000 PR ;
R TR T M i B e NS
s sy Al e T e

$2 ____,,499@-”" /L'/-’/
i $1 [T 000 o
1. Completethetable /ﬂ/Ter _? The eff‘ec? ol
At 1 1l iy & B Srs2

hrceper | ot Quontiy | T%fr.r%::ded | snortogel! :

; | Y Decrease
Decrease
no eifect
Increase
Increase

quantity?

5 What s the equilibrium price? What is the sqUilicHF

The equilibrium price equals $3, when Qd=Qs
The equilibrium quantity equal 7000 bushels of corn.
3. Af market price of $4. calculate the excess supply

Excess Supply = Qs — Qd= 10,000 — 4,000 = 6,000

xample : : fi
gcsg::l on the following table which represents the supply and Price d(egrk:\zrr:fclihéd Sj”cr;iez
demand schedule for one seller of meat $20 395 499—“2 00
a. Suppose that there are 100 seflers and 100 buyers of meat in $22 375 228
this market. What is the equilibrium price and quantity of - $24 350 | %20 =
meat in this market? ) $26 320 | 320
$28 280 | 345
Market demand = number of buyers * Quantity' demanded for one buyer.
Market supply = number of sellers * Quantity supplied for one Price Market Market
seller. demand __,ﬂEF—’LY/
$20 39,500 | 20000
At equilibrium price: Qd = Qs : equilibium price = $26 $22 37.500 25,000
equilibrivm guantity = 32,000 524 35,000 —”w
$26 32,000 32,000
$28 28,000 | 34500~
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S

ng.When governmeni sets the price of a meat at $28, will there be a shortage or surplus? BY what

amount?
= =734500. Qd=28000 = Qs>Qd-=-surplus-ofthe-me :
At $28 of price : Q5= 34,500, =78, eat by ihe omount of

6,500 units { 34,500 — 28,000

Example Wi
Consider the following market demand and supply curves for g 55° v
Cheese. Quantities aré in tons and prices in dollars. ar 50+
457 -
a. Whatisthe equilibrium price and quantity of Cheese in 40
this market? 354t
30 +—
The sauilbium price is indicated by the intersection of T I W e
ihe supply curie and ihe demand curve. - :L.1 1 ‘ ;:r ~~\.-! A i
PR s B e N e e
Equilibrium price: $35 10 \
5
0

Equilibrium quantity: 250 tons
0 100 200 300 400 500 6OC

| .
A .Qqantily

b. Suppose ihe government purchased 300 fons of cheese at each price level (demcnd increase by

300 tons). what is the equilibrium price and quantity after this purchase? i

Demand increase by 300 tons, means that the at each price quantify demand increase by 300 tons

60 et
8 57 S : \i\ \ -
Price Qg Qd' (new demand) Qs & 50— - e Cat
25 350 350 + 300 = 650 50 45 : e
30 300 300 + 300 = 600 150 40 e
35 250 250 + 300 = 550 250 35 - =
40 200 200 + 300 = 500 350 3 - : : -
45 150 150 + 300 = 450 450 25 . ad >
50 100 100 + 300 = 400 550 20 <
15
16 N\
Equilibrium price: $45 5
0 .
Equilibrium quantity: 450 fons 0 100 200 300 400 SO0 600

Quantity

26

[t —
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.

g

d by the equation P =10~ 02Q¢ and's

iy

UDp|y by

equahon = : | ;
ey ntity for @ commodity /
the equilibrium price and qua ¥
1. Whatisine
At equilibrium: Qo =0 a1 4 |
040=8 — 0=0a

o e

2+020= 10-020 —

i
s s
A =10-4= 36 /
p=10- 0.2(20) 9 |
ks 4 surplus or shortage?
: horiage of surpi 1us2 By how ruch the SUTP
a sho

9 AtP=135 is therg I S

. ol

0P . AtP=$5. Qu= = =25

— Oua=
pemand equation: P = 10-0.204 Ou s

_“’i  AtP=9$5 Os= 5 =13 ;;

supply equcmon p=2+020 — Os= ?

AtP=$5: Q4> Qs — shortage A :

By the amount equal 25— 15 = 10 units |
Price Quantity | Quanf
: Demanded Supplied
Exgmple:
' $100 1000 200
|. The table above describes the market for VCRs. 200 200 o
’ 300 600 50
a. Plot the demand and supply schedules. Wf;ct is the 200 200 o7
equilibrium price? The equilibrium quantity? 500 200 160
.N.q:l(cl for VCRs
co 0 ; —— 1} A
f’éks ] ; ‘i“"

©)

P

ico

g 405 §03 - 800 10% “.'&:U_‘?’fl-!?lﬁﬁ}cm;r .

Equmbrlum price = $300
ity = 600 VCRs

/Tﬂ—i’f" |
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“croeconomics ___ Chapter 3: Demand, Supply, and Market Equilibrivm aple sz

quantity supplied? Will price

b. Atthe price of $200. what is the quantity demanded? What is the

tend tO increase?

L — i 1Gf o) 200 VCRs
Quantity supplied = 400 VCRs

Yes, thereisa shortage and price will increase
d2 Whatis the quantity supplied? will price

At the price of $400, what is the quantity demande
tend to decrease?

Quantity demanded = 400 VCRs
- Quanfity supplied = 800 VCRs

Yes, there is a surplus and price will decline.

price Quantiity
| Demaonded |

tem e into this morat and ~orsumners nrefer

d schedule ior VCKs is represented inine

~ A ngv pr':--"ji.n:‘:_ DYD i in
it fo VCRs. The new deman
following table.

at is the direction of the shiff in

a. Plot the new demand schedule. Wh
the demand curve?

“Hews™ Madket for VOR2

The demand curve shifts to the left

b. Whatis the new equilibrium price and quantity?

Equilibrium price = $250
Equilibrium guantity = 500 VCRs

c. Is there an excess demand or excess supply at the old equilibrium price?

ess supply at the old equilibrium price.

5y
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arket Equilibri;
: ios  Chapter 3‘Demand Suppl and M uilibrium 3, ey v!,",‘
Z + Principles of MIC peconoi - i )
LA =
) . . s o Sl 1200 i
Application: Govemment &t prices '“’SJM BN PPCE: i
: g sy 5 23 B2 sLodil 38 BesSl Jous Ui ';r'
G935 Ol 858, ooty =" = B sl - Jal i
_ﬂ_b g 12 5551 5B 3550 gt T g 5 o i 0!5J|P‘a "’""”—;.‘BJI b e Ojlg 2| "~ it
&lasd 5 5 35 AogS=d] J"jﬁc’*‘ﬂwl@'ﬁﬁﬁ:ly;ﬁ‘ 5T | asloxd ol seuall glis)l E&Jbu\;, g;'b(‘{‘
,swxj ‘ = SN i
: ;f;".
5 ur
Price Ceilings: s 2.l aawll ) 1
. arge ford product or services. A pri. i
A price cefling sefs the maximum Iegol pl:lc-e a seller may charg Price at of :“'4"
below the ceiling is legal: a price above itis not. ,N:
. 5 gl ol 3635 s Lslel ' 1
: % g : 6“9&Luu|a~u-.'-=$‘-_ . 98 Syl s -
uSg,-.um_u.z:anu:Jl._s,.._uu’ "5&'—:5U|OS‘°‘-"JJ“S '“L"‘qu{ 2 .)‘93!“9“”" T Lol cossmnll Ny Io.nlig‘ilhdl /ﬁ{‘
s Y
Wi o celiing price is below ithe equi ';
A price celiing is 2 maximum iegai price such G5 ec. .A‘..en’.ri 3 ,,hf,\fp e e hnri-jhe equhb(iuh /
crice. a parsislent oroduct shorags coglts, Hars that edpn = BeTE e TR Y zontal distane, '
between Qg and Qs. L)
5> o ageall aaSIl 0853 Sy i 158 d | f
o Balll oLl Fos 58 3 3973 S i 8 aglball aaSH o J3l anpsall % Lg:.?SJaJS e
g I JFEENZI A S Al UL,_,_,QJ_c.:U.s._-,SJBUWE 3) J> cdgls &, f
&5 Ol &ogSxl) Soss .ds_udl.:sxs,.pbéﬂl)z—d‘ A o sz 012 Z2 070 o sl Al oo yalia 9S> of !
wIMWIM@b[@QQ%@IPQOIVJL{J‘ °»ﬁjj’u:f I oz o) B8ls.5 vd’“”" Sl cullal 3y },s
Bo o s5pb Il Sy a5 uisd oc il JES B B it 8l 4o pol ‘,{
.:hs_.,, [g}

Graphical Anglysis rice Ceilings cn Gasoline

P
suppose that rapidly rising world incomeé boosts the purchase {.i
of automobiles and shifts the demand for gasoline to the right [;"
so that the equilibrium or rarket price reaches $3.5 per gallon. ‘
shown as Po in Figure. The rapidly fising price of gosoline ¢ p, 3
greaily burdens low- and moderate-income households, =~ ] Ceilin ‘7
which pressure govemment 10 wdo something.” To keep  s3 L g 4 4
goscline affordable for these households, fhe government Shomge\\f;
imposes a ceiling price Fe of $3 per gation. To impact the 4
market, a price ceiling must be below ihe equilibrium price. A g
for example, would have had no y
0 e & r

ceiling price of $4.
immediate effectont

what are the effects
ineffective. Because

shortage of gasoline. T
Qs; a persistent excess

Price Floors: 2 sall Bt VI

he g
dem

A price floor is a minimum
price pelow it is not.

s 0P

of this $3 ceiling price¢ The
the ceiling price

odel Tmaw B3l 2% Ll
aalul A @ syt £l O oy (siglB 2w o

he gasoline market.

rationing ability

Pc is below

ofine demanded at Pc is Qg

uantity of gas

and or sho

price fixed by the government. A price at orab

STUDENTS-HUB.com

the market-clearing pr

riage of amount Qa - Qs occurs.

oresiinll &lo=) an

[

f the free market is rendered
ce Po, there is d losting |
tity supplied s ony| |,

(o)

and the quan

e L

ove the price flooris legal:

e,

sS! -1[7“":' U]ij !
sl gy ;e 22 ot VS

s

%4
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of Microeconomics _ Chapter 3+ Demand, Supply, and Market Equilibrium Lple Jas g

Graphical And! sis (price Floor on Wheat
_A_pwmmnﬂn legal price such as Pf. When the price

iibrium_price. 0_persisfent product sorplos
Here that surplus IS shown by the horizontal distance o5
r

P

results.
between Qs and Qa.

suppose the equiliorium price for wheat is $2 per bushel and,
pecause of that low price, many farmers have extremely low
incomes. The govemment decides to help out by establishing a
legal price floor of price support of $3 per bushel. What will be the
effects? At any price above the equilibrium price, quantity
supplied wil exceed guantity demanded—that is, there will be a
persistent excess supply or surplus of the product. Farmers will be
willing to produce and offer for sale more than private buyers aré

2 P,

Q

cyoimole

i

Consider the following market demand and supply curves for

in dollars.
$14

12
10
88
o6
4

2

$8, would there be

Suppose that government imposed a price floor of
size of this

a shorfage or a surplus at this price? Why?2 How much is the
shorfage or surplus?

surplus because Qs> Qd :

Cheese. Quantifies are in tons and

i
/

1t
P

93

E~d
=

\

Floor

\ o
% &% &

Q

willing to purchase at the price floor.

prices

(]

AL
=R

S -
emand

Surplus = Qs = Qd =30 - 10=201ons

Multiple choices:

1. When a price ceilin is imposed ina market,
A. ki persistent shortage results|
B. apersistent surplus resulfs )
C. sellers of the product are made better off

D. quantity supplied is greater than ihe quantity demanded

sef

When a price floor is imposed, it has an impactonad market if itis
A. below the equilibrium price
B. aboveihee uilibrium pris

C. abovethee uilibrium price

20 30 40 50 60
Quantity

D. below the equilibrium price because quantity demanded exceeds quantity supplied

A price ceiling S A

A. Is alegal maximum on ihe price at which a ood can be sold

B. Isa legal minirnum on ihe price at which a good can be sold.

C. Occurs when the price in the market is temporarily above equilibrium.
D. Will usually resuliin @ market surplus.

7
A

20} Pzoe

¢’
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Increase in.l_)'emdnd e i
' l . D1 to Dy, incredseé both eq#
d from \

The increase’in 'gemch
equilibrium quantity ®Ft ot

Decrease in Derpand

EQuil;'briumP”;cea"d I~

: poth
The decrease in demand from D3 fo D4, z'iecr ease

equilibrium quantity (P} ol

=
r
« Changes in Supply - e P h
" Increase in Supply y . o S8
21ib i ice and, increase
The increase in supply from S1 fo $2, decrease the equilibrivm p'rwe L
the equilibrium quantity (PL ; Q1) : /
4 D
—
E S4

Decrease in Supply
The decrease in supply from S3 fo S4, increase the equilibrium p’r'ice and, 4
decrease the equilibrium quantity (Pt ;0L ) i R

—pr

o Supply Increcse; Demand Decrease

Increase insupply = Qf
Decrease in demand = Q|
Net effect: Q: uncertain (a3 gkidy)

i : st P
P
N 5 51 51
l‘ . ]
rd \/ DL
D2

é \ 21'| ~P—A:; :vP
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Example
| eoand-coffee are substitutes and both fea and coffee are normal goods. Explain what happen to”
vantihyof tea due to ihe following evenis.

uilibrium price, equitibrivrmrauant

a Government increase sales taxes on fea. P] P
. s1
increase sales taxes o decrease supply of tea T P1 x
: pOf—
The demand for fea: no change. :
DL
The price of fea: increase .
Q0 o1 Q
le—

The quantity of tea: decrease :

~~ffee darreais condderably (a8 22

Tea and coffee are substitutes = Price of cofiee decrease leads to increase demand for coffee

and decrease demand for tea. P

The supply of tea: no change
131
The price of tea: decrease B0

The quantity of fea: decrease

Qo 01 Q

c. Consumers' income decredses and, af 1He same time, the cost of producing and fransporting fea

has also decreased.

Tea is @ normal good ®Consumers’ income decreases leads fo decrease he demand for tea

The cost of producing and transporting tea has decreased. = supply 4
of tea increase S1
i iy ¥ N/ 52
The price of tea: decrease - P1
The quantity of tea: unceriain’ l’ EC N 1
y D2
Q1 Q

STUDENTS-
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: ilibri 1

ffect on Equilibﬁum % |

e |

d % Uncertain —
r/—’/—_\ t [

= Decreds€ Uncertain
Increase Decredse Increcse Increase
Decrease Incredse : Uncer‘f""fe o ol o Ly ]
Increase lncrecse lndefetAilC=L—1"""" " Decrease. |
o Uncertcun .
Decrease _‘_,_,6,,/——’1

Effects of changes in boih supply and demand

ments, and milk is used to ‘{:

le
Example ead are comMP U iibrium |
Suppose that cheese is a normal goods, chegssisc ?}?OS«( what happens fo demand. SUPPIY. €quilibriym,
produce cheese. For each of the following cases.
price, and equilibrium quantity of cheese-
a. Price of milk increcses. g 7
1on]. Increase in
k produc ) profit.

HAE n of mil
Milk is used fo produce cheese (,e:o%lfﬁse s[eads to decrease the
it s fo suppP

milk prices raise production cos ] el
Reduction in profils reduces the incentive fOIF ; {decrease).
each product price = shift supply curve o the leit {GS !

Demand curve for cheese: No change

Equilibrium price: Increase

Equilibrium quantity: Decredse

b. National income decrease and, at the same tim

increased.

National income decrease: cheese is a normal goods = decrease
income leads to decrease demand

The number of sellers of local cheese has increased = increased supgly
Price: decrease

Quantity: uncertain

The govemment gives a subsidy to the producers of bread.

Subsidy to the producers of bread leads to increase the supply of bread P

T P2
Pl

= decrease the price of bread, but cheese and bread are
complements & increase the demand for cheese.

Supply curve for cheese: No change

/ =

Price: increase

!
|

Quantily: increqase

O
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ly ouiput af

&, the number of sellers of local cheese has

4

\ \_ll 52

'\ st

D2
\ DL

QL Q2
2

C 991 pases
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eter fo the information

provided in table below fo an

St
Price per Qg for Q; for Pizzas
Pizza +  Pizzas
$3 “1.200 4600
3 1, 700 )
9 800 800
12 4600 900
s | 40 | 1000

L, Whatis ihe €G
L. At o price of Pizza
= In this maorket there wi
4. Supposa ih2 government sed
it be? ’

L. Suppose ihe gov
of pizza by 300 un

$3,is there

its af each

uilibrium price and quantity in Pizza

Il be an excess deman

T
¢ a price floor of $

ernment gives subsid

morkef
be a shoriage-or surp

es fo the producers of
price ievel, what is ihe new equi

Juse By how much?
d of 300 pizzas at which price?

12. Wil there be a shortcege or surplus? HOwW

pizza that le
ibrium price and qua

are complements,

large il

ads to increase the supply

niity2

and mp3 players®

Question #2:
players and CDs

uppose iha
snd satellife
upply. equilibrium pri
a decrease in the
anincrease in the
The govemmenf g

WL v wo
W TR

& decrease in the

1ased on the fol
Jemand of Tea.

a fad thaf makes mp3 pla

W UCOII . ==
t an mp3 player is normai geeds, mp3

radio are subsiitutes. For each
ce, and equilibrium qu

of

price of mp3 players

price of CDs

ubsidy to the
yers more popular d
f satellite radio.

ives as

price O

k',____’_____/
Price | Firm A's | “Firm B's
Quantity | Quantify
Supplied Sugglied
2. 2 3
4 4 6
6 3 9
| 8 I 8 12
|10 10 15

liowing table which represents

r——_’__’.’
Firm C's
Quantity

Sugglied

U
Market

the following cases, sh
antity of mp3 player-

producers of CD
mong 12-

demand

| ]

54
48
| 48 |

42
35

| Y

ihe supply schedule for

VW

of market of Tea Whai i

faTed

30

|

suppose that there are only ihree seliers

what is the equilibrium price and quantity of Tea in this market?
when government sefs ihe price O
amount?

at 34, will there be as

ow what happens to demand,

55 year olds

three sellers and the market P

gesemre

R pTp

< the market supply schedule

horiage or surplus? By what
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